First, we will find icc (17+ 45, ©):
X=42+{5
X* =2+ 2w +5S
-1 = 2{w
Y-+ 49 =40
1-wmx*rq =0
4!(1):«"-.45‘#! hon oo lincan facters (becawne *),%3,:9 ane not
s x).
wppos P00 = x1-Mxq = (v by +0) (K dx+ Q).
Tan  xI-13 +9 = x9+ (d+b)3+(c+e+ bd)xt +(cdreb) X +ec, sSo
d4b=0 <2 d=-b
c+e+bd = -4
Qdubloq’O — eb=th ™ €=Cc o¢ b=D
éec=
I e=c, than e=¢=% oc e=c=-3, S0 {-b*=-14 = b"=20
of -b-b*=-14 K*=%. In either tane Hawis no beZ
satisdy inq s, |
£ b=0, Hen'® Cc4e=-it 2 ec=9. Teshing ol combinations of
eCeZ st. @=9, w s that mnd so.hs%a cte =-1Y.
Thawdow £ s icredutible ovel Q.
Twe [@@z+3): @=H4 | whle |@d2):@|=2, so (Z+(E¢QR).
Sinee 2@, it folows +Het B¢ QUZ), ¢ Siwe {0=(5F,
it abo Plows Hhek 0 € RE{Z). T sea s, supese {10 € QR
Then S =42"410 eQHZ) |, which "= o contradiction. )
icred o, Q)=x*-1p, % X-10€@WDIY), sv |QUzZ. )i - 2.
Sivee 2406 = {2+42 710 e QUZADB), we koow QUWz+45)< Q{z.M).
To we have Hae -?o\\o\n'u\c& é\oﬂmm:
2 (aafm

Qa) Qaz+6)
S~ Id

Fow He dicaram we see Hak:
| Q67 (o) @) =((6?(ﬁ,ﬁ:¢‘>) A6\ 0@, q)
= 3.2 =4.
Mesd Fom Hhe diagram e See Hhok:
1Qz, (o) : @ | = |06z, i) QG+B)| |QIF+H):@)
Thw, 4 =(@(Z40)  QUz:&) -4
2 Q™) e @) | =1,

Thanddore, @ (17,(0) = QG4(3) .



